                                                                                                        REVISION 06/2010

 Appendix: All examples are numbered in accordance with the detailed descriptions in the Time Rules Clarification memorandum. 
Unless otherwise specified, the scenarios listed below use the work day definition which consists of any 24 hours in a pre-established work schedule beginning with the scheduled reporting time for the employee’s shift and are per the language in the AFSCME agreement and apply to all unions with the same patterned language.

1. No examples required 
2. Call Time 
Article 22, Section 1: “Employee...shall be paid at the appropriate rate for the hours worked or a minimum of three hours’ pay at the employee’s regular straight time hourly rate, whichever is greater”.  
7.5 hr employee scheduled shift is 0830-1700.  EE is called in on 10/26/09 at 2200 and works until 2330.  

2200-2230

.5 hrs
@  T1
=
.5 hrs
2230-2330
          1.0 hrs
@  T2  =        1.5  hrs
_______________________________________________
2330-0030
          1.0 hrs T1 needed to reach three hour minimum
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3. Holidays- 
Article 10, Section 4:  “A permanent full-time employee on a Monday through Friday work week shall be paid for any holiday listed in Section 1 of this Article, provided the employee was in an active pay status on the last half of the employee’s scheduled work day immediately prior and the first half of the employees scheduled work day immediately subsequent thereto”.
Section 6:  “If a permanent full time employee works on any of the holidays set forth in Section 1 of this Article, except the day after Thanksgiving, the employee shall be compensated at one and one-half times the employee’s regular hourly rate of pay for all hours worked on said holiday.  The employee shall receive paid time off for all hours worked on a holiday up to a full shift”. 

“Paid time off for time worked outside the employee’s regularly scheduled shift shall not be in lieu of such holiday pay”.

A. 7.5 hr employee (contract covered) on LWOP (YUSO) on 07/02/09 is not entitled to holiday quota for the 07/03/09 holiday.  The employee works their scheduled shift on the 07/03/09 holiday.  

0830-1700

7.5 hrs @ RT

0830-1700

7.5 hrs @ HT6     


0830-1700

7.5 hrs @CLE1
Manual quota correction (PA61- IT2013) is needed to:

· Reduce Holiday quota (quota type 25) by 7.5 hrs
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B. 7.5 hr Management (exempt or non-exempt) employee works overtime outside of their scheduled shift on a holiday (11/11/09). *Unless approval by Agency Head, compensatory time is normal method of payment for hours worked outside of the shift.  
1700-1900

2.0
CLE1

 

Manual quota correction (PA61- IT2013) is needed to:

· Increase Compensatory quota (quota type 15) by 2.0 hrs to provide the additional paid time off for all hours worked on the holiday up to a full shift. NOTE: CLE3 is an invalid attendance type for management employees.
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C & D. 7.5 hr employee works inside and outside their scheduled shift on a holiday (11/11/09) and requests compensatory time (tri-part agreement) in-lieu-of pay for the hours worked outside their scheduled shift.   

0830-1700
  7.5 hrs @ RT      

0830-1700
     7.5 hrs @ HT6

1700-2030           3.5 hrs @ CLE2

2100-0030           3.5 hrs @ CLE2

· Retain 7.5 hrs in Holiday quota (quota type 25).
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E. 7.5 hr employee works both first and second RDO (05/30 – 5/31).  Second RDO is also a holiday.
05/30





05/31
0830-1100

2.5 hrs @ T1

0830-1200

3.5 hrs @ T3

1300-1700

4.0 hrs @ T3
Manual quota corrections (PA61- IT2013) is needed to:

Increase Compensatory quota (quota type 15) by 7.5 hrs to provide the additional paid time off for all hours worked on the holiday up to a full shift. NOTE: CLE1 cannot be entered for the same hours as T3 in this example.
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4. Differentials

Article 10, Section 13:  There shall be no duplication or pyramiding of any premium pay provided for under the provisions of this Agreement for the same hours worked.”
Article 21, Section 1:  “An employee whose work shift consisting of 7 ½  or 8 work hours on a scheduled work day begins before 06:00 a.m. or at or after 12:00 noon will be paid shift differential of $1.00 per hours for all such hours worked on that shift”.

Section 2:  “Employees who work overtime on their work shift as described in Section 1, or who work not less than a full 7-1/2 or 8 hour shift which begins before 6:00 a.m. or at or after 12:00 noon on a day other than a scheduled work day will receive the shift differential …..”
“An employee who works overtime after or before a scheduled work shift for which shift differential is not applicable, whether or not the overtime work is for a full 7-1/2 or 8 hour shift, shall not receive shift differential or have it included in the base rate for computing the overtime premium rate.”

Management Directive 525.4, Temporary Assignment in Higher Classification, contains no provision for higher class worked on a holiday to be paid at a premium rate. 
A. 7.5 hr employee works HC on 11/11/09 holiday from 0830-1830.  

0830-1700
7.5 hrs @ HC

0830-1700
7.5 hrs @ HT6

1700-1830
1.5 hrs @ HT2

1700-1730
  .5 hrs @ H1D

1730-1830       1.0 hrs @ H2D
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B. 8.0 hr employee scheduled shift is 0700-1530 on Friday, 10/23/09. Saturday, 10/24/09 is an off day. He comes in at 1100 on Saturday 10/24/09 and works until 2000. 

1100-1530 4.5 hrs @ T2

1600-2000       4.0 hrs @ T2
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C. 8.0 hr employee works a full shift of OT that qualifies for Shift Differential on a regular day OFF (11/09/09) that is adjacent to the work hours for the next scheduled shift (11/10/09). 
2230–0300
4.5 hrs @ T2
0330-0700 
3.5 hrs @ T2 (PDI)
2230–0300
4.5 hrs @ Diff @ S4
0330-0700
3.5 hrs @ Diff @ S4 (PDI)
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D. Example 1  8.0 hour employee regularly scheduled to work 1400-2200. Tuesday 10/20/09 is a regularly scheduled off day. EE works from 1300 to 2200 on Tuesday 10/20/09.  1300-1400 belongs to Monday 10/19/09 (PDI) and is not due shift differential.  1400-2200 on 10/20/09 is a full shift that qualifies for shift differential based on the start time.  
1300-1400
1 hr @ T2

1400-2200       8 hrs @ T2

1400-2200       8 hrs @ Diff @ S4
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D. Example 2 An employee regularly scheduled to work 0830-1700. Saturday and Sunday (10/10-10/11/09) are off days. EE comes in at 0400 on Sunday and works until 1200. 0400-0830 (PDI) belongs to Saturday (10/10/09).  0830-1200 belongs to Sunday (10/11/09).  
0400-0630          2.5 hr @ T1  

0630-0830         2.0 hrs @ T2

0830-1200
  3.5 hrs @ T3
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 5. Insufficient Return Time

Article 6, Section 2:  “The work day shall consist of any 24 hours in a pre-established work schedule beginning with the scheduled reporting time for the employee’s shift…..”

“One and one-half of the employee’s regular hourly rate of pay shall be paid for work for any work performed in excess of eight hours in any work day…”.

7.50 hr employee regular scheduled shift is 0700 -1530.  On 10/21 EE schedule is changed due to workload (Subtype 03).  The assigned shift on 10/21 is 0530 -1330, resulting in insufficient return time.  The employee also worked overtime on 10/17 (OFF day).  
10/17/09:

0730–1000  
2.50 hrs @ T1

1000–1200  
2.00 hrs @ T2

10/21/09:




0600-0700
1.0 hrs @ RT

0600-0700
1.0 hrs @ IT6

0530-1330
7.5 hrs @ DIFF @ S1
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